Unit E – Assessment Questions

E1: Skill

Identify the relationship between the x and y variables.
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E1: Application
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The table shows the changing depth of a submarine as they come to the surface.  Identify the relationship between the depth of the submarine and time.
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The table shows Ina’s weekly pay based on the number of MP-3 players she sells.  If she sells 20 MP-3 players a week, what is Ina’s weekly pay?
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E2: Skill

Find the slope of the line that passes through the points (4, – 4) and (1, 6).

E2: Application

In construction, the slope of a road is called a grade.  If a road has a grade of 20%, explain its meaning in terms of rise over run.

E2: SAT

Find the slope of the line that passes through the points (p, q) and (– p, – q).

A. 
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D.   
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B. 
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E.    1

C. 
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E2: HSA

The graph below shows a linear model of the distance the earth travels around the sun.
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What is the slope, in kilometers per second, of this linear model?
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E3: Skill

If y = 4 when x = 12, find x when y = –8.

E3: Application

The wages, w, earned by an employee varies directly with the number of hours, h, they work.  Junead earns $5.75 per hour.  

· Write an equation that relates the number of hours worked to his earnings.  

· How many hours must Junead work to earn $69?

E3: SAT

Which equation does not model a direct variation equation?

A. y = –3x

B. y = 22x

C. y = 3x + 7
D. y = 2.5x

E. y = 
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E3: HSA

The cost of apples varies directly with their weight.  Sara bought 3.5 lbs of banana for $1.12.  

· Write an equation that relates the cost of bananas to their weight.

· Find the cost of 4.25 lbs of bananas.

E4: Skill

Write an equation of a line whose slope is ½ and whose y-intercept is – 2. 

E4: Application

Cathy and her family are hiking at Gunpowder Falls.  They have already walked 5 miles at a rate of 3 mph.  At this rate, how far will Cathy and her family have walked in two hours?

E4: SAT

A straight line has a slope of 3 and contains the point (0, –3). Which of the following points lies on the line?

A. (–1, 3)

B. (1, –2)

C. (1, 1)

D. (1, 2)

E. (2, 3)

E4: HSA 

Which situation below is modeled by the graph?
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A You have $40 and plan to spend $10 each week.

B You have $40 and plan to save $10 each week.

C You need $40 for a new CD player and plan to save $10each week.

D You need $40 for a new CD player and plan to spend $10 each week.

E5: Application

With the growth of do-it yourself TV shows, both men and women are tackling more home projects.

Who’s Handy at home

2000:  men – 48%                      2000:  women – 30%

2004:  men – 58%   2004:  women – 38%

[image: image15.png]



Write a linear equation to predict the percentage of women who are handy at home, W, for any year, x.  Use the equation to predict the percentage of women who are handy at home in the year 2005.


E5: HSA

Look at the line that is graphed
Which equation describes this line?

A y = 12x – 16 

B y = 4x – 16

C y = –4x + 16

D y = –4x – 16


E6: Skill

Write the point-slope form of an equation for a line that passes through the point (4, 7) and has a slope of  –
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E6: Application

There is a set daily fee for renting a moving truck, plus a charge of $0.50 per mile driven. It costs $64 to rent the truck on a day when it is driven 48 miles.  

· Write the point-slope form of an equation to find the total charge, y, for any number of miles, x, for a one-day rental.  

· What is the set daily fee?

E6: HSA

Which equation best represents this graph?

A y – 3 = 2(x – 1)

B y + 2 = 3(x + 1)

C y – 2 = 3(x – 1)

D y + 3 = 2(x + 1)


E7: Skill

Write the slope-intercept form of an equation for the line that passes through (4, –2) and is parallel to the graph of 
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E7: Application

Write the point-slope form of an equation for a line that passes through the given point and is parallel to the graph of the equation.


E7: SAT

The equation of the line n is y = 3x + 8.  If line r is parallel to line n and the equation for line r is y = mx + 16, what is the value of m?

A. 
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B. 3

C. 6

D. 8

E. 11

E8: Skill

Determine whether the graph has a positive correlation, negative correlation, or no correlation.


E8: Application

This table shows how the diameter of the pupil of your eye changes with age.

· Write an equation for the line of best fit. 

· What is the 
diameter of the pupil of an individual that is 90 years old?

E8: HSA

This table shows the federal minimum hourly wage for 1974 – 1997.

· Find the line of best fit.

· Use your model to predict the minimum hourly wage for 2005. 

· Identify the meaning of the slope in the context of the problem.
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